
Q.1 एक ही पासे की तीन अलग-अलग स्थितियाँ दर्शाई गई हैं। संख्या '6' दर्शाने वाले फलक के  विपरीत वाले फलक
पर कौन सी संख्‍या होगी?

Ans 1. 3

2. 4

3. 5

4. 2

Q.2 दी गई शृंखला में प्रश्न-चिह्न (?) के  स्थान पर क्या आएगा?
8, 17, 35, 71, ?, 287

Ans 1. 150

2. 143

3. 131

4. 156

Q.3 किसी परीक्षा में सात व्यक्तियों A, B, C, D, E, F और G ने अलग-अलग अंक (100 में से) प्राप्त किए। A ने
सर्वाधिक अंक प्राप्त किए। G के  अंक 9 के  गुणज थे, लेकिन 85 से अधिक थे। किसी ने भी 92 से अधिक अंक
प्राप्त नहीं किए। G और F के  अंकों का योग 150 था। D ने के वल E से अधिक अंक प्राप्त किए। C ने F से
अधिक और B से कम अंक प्राप्त किए। E ने 33 अंक प्राप्त किए। निम्नलिखित में से कौन-से D के  लिए संभाव्य
अंक हो सकते हैं?

Ans 1. 63

2. 62

3. 48

4. 30

Q.4 निम्नलिखित चार अक्षर-समूहों में से तीन एक निश्चित तरीके  से समान हैं और एक असमान है। दिए गए विकल्पों
में से असमान विकल्प को चुनिए।
(नोट : असंगत अक्षर-समूह, शब्द में स्वरों या व्यंजनों की संख्या पर आधारित नहीं है।)

Ans 1. VER

2. NRI

3. SHO

4. JQF
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Q.5 दिए गए विकल्पों में से उस युग्म का चयन कीजिए जो दिए गए युग्म के  सदृश हो।
9 : 725
3 : 23
(नोट: संख्याओं  को उनके  घटक अंकों में तोड़े बिना संक्रियाएँ  के वल पूर्ण संख्याओं  पर की जानी चाहिए। उदाहरण
के  लिए 13 को लीजिए – 13 पर की जाने वाली संक्रियाएँ , जैसे 13 में जोड़ना / घटाना / गुणा करना इत्यादि
के वल 13 पर की जा सकती हैं। 13 को 1 और 3 में तोड़ना और फिर 1 और 3 पर गणितीय संक्रियाएँ  करने की
अनुमति नहीं है।)

Ans 1. 6 : 220

2. 4 : 60

3. 5 : 128

4. 8 : 315

Q.6 08 जून, 2030 को सप्ताह का कौन-सा दिन होगा?

Ans 1. शनिवार

2. शुक्रवार

3. सोमवार

4. रविवार

Q.7 एक निश्चित कू ट भाषा में, 'LEMON' को OQPIQ के  रूप में कू टबद्ध किया जाता है और 'BASIL' को
MKVEG के  रूप में कू टबद्ध किया जाता है। उसी भाषा में 'CHILI' को किस प्रकार कू टबद्ध किया जाएगा?

Ans 1. JNLLH

2. HMLNL

3. JNNLH

4. HLLNJ

Q.8 रमेश अपने बचपन के  दोस्त के  घर जाना चाहता है। रमेश के  दोस्त ने एक टेक्स्ट मैसेज के  जरिए अपने घर का
रास्‍ता बताया। रमेश को उसके  मित्र के  घर के  रास्‍ते के  बारे  में भेजा गया टेक्स्ट देखें और उसके  अनुसार
निम्नलिखित प्रश्न का उत्तर दीजिए।
“जब आप अपने घर से बाहर निकलते हैं, तो आपका मुख उत्तर की ओर होता है। दाएं  मुड़ें और 3 km चलें,
आपको एक T -पॉइंट/जंक्शन दिखाई देगा। दाएं  मुड़ें और 2 km चलें। यहाँ चौराहे वाला एक गोल चक्कर
आएगा। गोलचक्कर से बाईं ओर दू सरा मोड़ लें और 1 kmचलें। दाएं  मुड़ें और 3 km चलें। दाएं  मुड़ें और 1 km
चलें। तुम खुद को मेरे  घर के  सामने पाओगे।”
रमेश का मुख गंतव्य स्थान पर किस दिशा में है?

Ans 1. दक्षिण

2. पूर्व

3. उत्तर

4. पश्चिम

Q.9 दिए गए विकल्पों में से उस युग्म का चयन कीजिए जो दिए गए युग्म के  सदृश हो।
2 : 11
1 : 4
(नोट: संख्याओं  को उनके  घटक अंकों में तोड़े बिना संक्रियाएँ  के वल पूर्ण संख्याओं  पर की जानी चाहिए। उदाहरण
के  लिए 13 को लीजिए – 13 पर की जाने वाली संक्रियाएँ , जैसे 13 में जोड़ना / घटाना / गुणा करना इत्यादि
के वल 13 पर की जा सकती हैं। 13 को 1 और 3 में तोड़ना और फिर 1 और 3 पर गणितीय संक्रियाएँ  करने की
अनुमति नहीं है।)

Ans 1. 5 : 128

2. 4 : 65

3. 3 : 27

4. 6 : 217
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Q.10 एक ही पासे की दो अलग-अलग स्थितियाँ नीचे दिखाई गई हैं। 5 वाले फलक के  विपरीत फलक पर कौन-सा अंक
है?

Ans 1. 6

2. 3

3. 1

4. 4

Q.11 एक ही पासे की दो अलग-अलग स्थितियाँ नीचे दिखाई गई हैं। 2 वाले फलक के  विपरीत फलक पर कौन-सा अंक
है?

Ans 1. 4

2. 6

3. 5

4. 1

Q.12 दिए गए विकल्पों में से उस युग्म का चयन कीजिए जो दिए गए युग्म के  सदृश हो।
12 : 141
8 : 61
(नोट: संख्याओं  को उनके  घटक अंकों में तोड़े बिना संक्रियाएँ  के वल पूर्ण संख्याओं  पर की जानी चाहिए। उदाहरण
के  लिए 13 को लीजिए – 13 पर की जाने वाली संक्रियाएँ , जैसे 13 में जोड़ना / घटाना / गुणा करना इत्यादि
के वल 13 पर की जा सकती हैं। 13 को 1 और 3 में तोड़ना और फिर 1 और 3 पर गणितीय संक्रियाएँ  करने की
अनुमति नहीं है।)

Ans 1. 11 : 121

2. 14 : 197

3. 18 : 321

4. 13 : 165

Q.13 निम्नलिखित समीकरण में यदि 'a' का अर्थ '÷' है, 'b' का अर्थ '+' है, 'c' का अर्थ '−' और 'd' का अर्थ '×' है, तो
प्रश्न-चिह्न (?) के  स्थान पर क्या आएगा?
11 b 15 c 8 a 4 d 5 = ?

Ans 1. 15

2. 16

3. 14

4. 17

Q.14 दिए गए विकल्पों में से उस पद का चयन कीजिए जो निम्नलिखित श्रृंखला में प्रश्न चिह्न (?) के  स्‍थान पर आ
सकता है।
PQS, ?, ZAC, EFH, JKM

Ans 1. UWX

2. TUZ

3. UVX 

4. SUV

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.15 छह बच्चे एक गोल डाइनिं ग टेबल के  परित: इसके  कें द्र की ओर अभिमुख होकर बैठे  हैं। जो लूसी और स्टेसी दोनों
का निकतम पड़ोसी है। ईवा, लूसी के  दायें से दू सरे  स्थान पर बैठी है। कीथ, स्टेसी के  बायें से तीसरे  स्थान पर बैठी
है। कै रल ईवा और स्टेसी दोनों का निकतम पड़ोसी है। निम्नलिखित में से कौन जो और कै रल के  बीच में बैठा है?

Ans 1. ईवा

2. कीथ

3. स्टेसी

4. लूसी

Q.16 निम्नलिखित में से कौन-सी संख्या दी गई शृंखला में प्रश्न-चिह्न (?) का स्थान लेगी?
983, 975, 948, 884, 759, ?

Ans 1. 433

2. 633

3. 543

4. 733

Q.17 निम्नलिखित में से कौन सा पद दी गई श्रृंखला में प्रश्न चिह्न (?) के  स्‍थान पर आएगा?
NDJP, PBMM, RZPJ, ?, VVVD

Ans 1. UXTG

2. SZTF

3. SYSF

4. TXSG

Q.18 दिए गए शब्दों को अँग्रेजी शब्दकोश में दर्शाए जाने पर कौन-सा विकल्प उनके  सही क्रम का निरूपण करता है?

1. Mimic
2. Million
3. Minaret
4. Millstone
5. Mimicry

Ans 1. 2, 4, 1, 3, 5

2. 2, 1, 4, 5, 3

3. 2, 4, 1, 5, 3

4. 2, 3, 1, 5, 4

Q.19 इस प्रश्न में, दो कथनों के  बाद विकल्प के  रूप में चार निष्कर्ष दिए गए हैं। दिए गए कथनों के  आधार पर निर्धारित
करें  कि कौन सा निष्कर्ष निश्चित रूप से सत्य है।

कथन:
P ≤ Q < R < S
T > S > V ≥ W

Ans 1. Q < W

2. P < V

3. P < T

4. R > W
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Q.20 उस युग्म का चयन कीजिए जो एक दू सरे  से उसी प्रकार संबंधित है जिस प्रकार नीचे दिए गए युग्म
संबंधित हैं
9 : 69
11 : 109
( नो  ट :  सं ख् या  ओं  को   उ न के   घ ट क  अं कों   में  तो  ड़े  बि  ना   सं क्रि  या  एँ  के  व ल  पू र्ण  सं ख् या  ओं  प र
की   जा  नी   चा  हि  ए ।  उ दा  ह र ण  के   लि  ए  1 3  को   ली  जि  ए  –  1 3  प र  की   जा  ने  वा  ली   सं क्रि  या  एँ  ,
जै से  1 3  में  जो  ड़ ना   /  घ टा  ना   /  गु  णा   क र ना   इ त् या  दि   के  व ल  1 3  प र  की   जा   स क ती   हैं  ।
1 3  को   1  औ र  3  में  तो  ड़ ना   औ र  फि  र  1  औ र  3  प र  ग णि  ती  य  सं क्रि  या  एँ  क र ने  की
अ नु म ति   न हीं   है  । )

Ans 1. 24:576

2. 8:76

3. 14:209

4. 16:244

Q.21 निम्नलिखित श्रृंखला को जारी रखने के  लिए प्रश्न चिह्न (?) के  स्थान पर कौन-सी आकृ ति आनी चाहिए?

Ans

1. 

2. 

3. 

4. 

Q.22 दिए गए विकल्पों में से उस त्रयी का चयन कीजिए जो दी गई त्रयी के  सदृश हो।
339 – 663 – 555
348 – 636 – 555

Ans 1. 195 – 285 – 348  

2.  164 – 542 – 614  

3. 432 – 513 – 711  

4. 161 – 512 – 710  
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Q.23 एक निश्चित कू ट भाषा में, 'BEAUTY' को 71 के  रूप में कू टबद्ध किया जाता है और 'RIVER' को 70 के  रूप में
कू टबद्ध किया जाताहै। उसी भाषा में 'PEOPLE' को किस प्रकार कू टबद्ध किया जाएगा?

Ans 1. 67

2. 66

3. 65

4. 69

Q.24 दिए गए कथनों और निष्कर्षों को ध्यानपूर्वक पढ़िए। यह मानते हुए कि कथनों में दी गई जानकारी सत्य है, भले ही
यह सामान्य रूप से ज्ञात तथ्यों से भिन्न प्रतीत होती हो, तय कीजिए कि दिए गए निष्कर्षों में से कौन-से निष्‍कर्ष
कथनों का तार्कि क रूप से अनुसरण करते हैं।
कथन:
कु छ गुब्बारे  नाइट्रोजन हैं।
सभी गुब्बारे  हाइड्रोजन हैं।
सभी हाइड्रोजन हीलियम हैं।
निष्कर्ष:
I. सभी गुब्बारे  हीलियम हैं।
II. सभी नाइट्रोजन हीलियम हैं।
III. कु छ हीलियम नाइट्रोजन हैं।

Ans 1. के वल निष्कर्ष II और III अनुसरण करते हैं

2. के वल निष्कर्ष I और III अनुसरण करते हैं

3. के वल निष्कर्ष I और II अनुसरण करते हैं

4. सभी निष्कर्ष अनुसरण करते हैं

Q.25 निम्नलिखित में से कौन-सी संख्या दी गई श्रृंखला में प्रश्न चिह्न (?) को प्रतिस्थापित करे गी?
7, 13, 27, 53, 107, ?

Ans 1. 203

2. 113

3. 103

4. 213

Q.26 दी गई आकृ ति में कितने त्रिभुज हैं?

Ans 1. 13

2. 15

3. 14

4. 12
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Q.27 दिए गए विकल्पों में से उस आकृ ति का चयन कीजिए जो निम्नलिखित श्रृंखला में प्रश्नवाचक चिन्ह (?) को
प्रतिस्थापित कर सकती है।

Ans

1. 

2. 

3. 

4. 

Q.28 एक आदमी पश्चिम की ओर 10 किमी की यात्रा करता है और बाएँ  मुड़ता है और 4 किमी की यात्रा करता है और
फिर पूर्व की ओर 4 किमी की यात्रा करता है। फिर वह अपने दाएँ  मुड़ता है और 5 किमी की यात्रा करता है। फिर
वह अपनी बाईं ओर मुड़ता है और 6 किमी की यात्रा करता है। वह अपने आरंभिक स्थान से किस दिशा में है?

Ans 1. दक्षिण

2. उत्तर

3. पूर्व

4. पश्चिम

Q.29 यदि 'A' का अर्थ '+' है, 'B' का अर्थ '–' है, 'C' का अर्थ '×' है और 'D' का अर्थ '÷' है तो निम्नलिखित समीकरण
में प्रश्नवाचक चिह्न के  स्थान पर क्या आएगा?
60 D 10 A 4 C 6 B 25 = ?

Ans 1. 10

2. 9

3. 6

4. 5
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Q.30 दिए गए कथनों और निष्कर्षों को ध्यानपूर्वक पढ़ें। आपको दिए गए कथनों को सत्य मानना है, भले ही वे सर्वज्ञात
तथ्यों से भिन्न प्रतीत होते हों। आपको तय करना है कि दिए गए निष्कर्षों में से कौन सा/से निष्‍कर्ष दिए गए कथनों
का तार्कि क रूप से अनुसरण करता/करते है/हैं।
कथन:
कु छ पिन क्लिप हैं।
कु छ क्लिप कागज हैं।
कोई कागज किताब नहीं है।
निष्कर्ष:
(I) : कोई किताब पिन नहीं है।
(II) : कम से कम कु छ पिन कागज हैं।

Ans 1. के वल निष्कर्ष (I) अनुसरण करता है ।

2. के वल निष्कर्ष (II) अनुसरण करता है ।

3. न तो निष्कर्ष (I) और न ही (II) अनुसरण करता है ।

4. दोनों निष्कर्ष (I) और (II) अनुसरण करते हैं ।

Q.31 उस विकल्प का चयन करें , जो तीसरे  शब्द से उसी प्रकार संबंधित है ,जैसे दू सरा शब्द पहले शब्द से संबंधित है।
(शब्दों को हिन्दी के  अर्थपूर्ण शब्दों के  रूप में माना जाना चाहिए और ये शब्द, अक्षरों की संख्या/व्यंजनों/स्वरों की
संख्या के  आधार पर एक-दू सरे  से संबंधित नहीं होने चाहिए)
चीनी: मधुमेह :: वसा: ________

Ans 1. तन्द्रा

2. अनिद्रा

3. थाइरोइड

4. मोटापा

Q.32 उस विकल्प का चयन कीजिए, जो तीसरे  शब्द से उसी तरह से संबंधित है, जिस तरह से दू सरा शब्द, पहले शब्द से
संबंधित है। (शब्दों को सार्थक अँग्रेजी/हिं दी के  शब्द के  रूप में माना जाना चाहिए और शब्द में अक्षरों की संख्या/
स्वरों/व्यंजनों की संख्या के  आधार पर एक-दू सरे  से संबंधित नहीं होनी चाहिए)
बढ़ई : लकड़ी :: राजमिस्त्री : _________

Ans 1. पाइप

2. लोहा

3. पत्थर

4. बिल्डर

Q.33 शब्द 'AMBIDEXTROUS' में, यदि पहले अक्षर को अंतिम अक्षर से बदल दिया जाए, दू सरे  अक्षर को ग्यारहवें
अक्षर से बदल दिया जाए, तीसरे  अक्षर को दसवें अक्षर से बदल दिया जाए और इसी तरह आगे भी किया जाए, तो
नई व्यवस्था में बाएँ  से दाएँ  पढ़ने पर कौन-सा अक्षर R के  ठीक बाद में आएगा?

Ans 1. T

2. O

3. X

4. E

Q.34 एक तस्वीर की ओर इशारा करते हुए रानी ने कहा "वह मेरे  दादा के  इकलौते बेटे की बेटी है।" तस्वीर में दिख रही
लड़की रानी से किस प्रकार संबंधित है?

Ans 1. बेटी

2. बहन

3. भाई

4. चचेरी बहन/ ममेरी बहन/ मौसेरी बहन/ फु फे री बहन
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Q.35 निम्नलिखित समीकरण में '?' के  स्थान पर क्या आएगा, यदि '+' और '−' को आपस में बदल दिया जाए और '×'
और '÷' को आपस में बदल दिया जाए?
56 + 12 − 54 × 18 ÷ 6 = ?

Ans 1. 26

2. 62

3. 86

4. 50

Q.36 उस समुच्चय का चयन कीजिए जिसमें संख्याएँ  आपस में उसी प्रकार संबंधित हैं जिस प्रकार निम्नलिखित समुच्चय
की संख्याएँ  आपस में संबंधित है।
(13, 41, 89)
(4, 14, 26)
(नोट: संख्याओं  को उनके  घटक अंकों में तोड़े बिना संक्रियाएँ  के वल पूर्ण संख्याओं  पर की जानी चाहिए। उदाहरण
के  लिए 13 को लीजिए – 13 पर की जाने वाली संक्रियाएँ , जैसे 13 में जोड़ना / घटाना / गुणा करना इत्यादि
के वल 13 पर की जा सकती हैं। 13 को 1 और 3 में तोड़ना और फिर 1 और 3 पर गणितीय संक्रियाएँ  करने की
अनुमति नहीं है।)

Ans 1. (9, 29, 63)

2. (8, 26, 54)

3. (11, 31, 75)

4.  (12, 38, 80)

Q.37 दिए गए विकल्पों में से उस त्रयी का चयन कीजिए जो दी गई त्रयी के  सदृश हो।
668 – 776 – 992

Ans 1. 195 – 285 – 348  

2. 488 – 398 – 299  

3.  144 – 225 – 729

4. 725 – 623 – 542  

Q.38 कौन सा अक्षर-समूह दी गई श्रृंखला में प्रश्‍न चिह्न (?) को प्रतिस्‍थापित करके  श्रृंखला को पूरी करे गा?

ZLPT, LABI, XPNX, ?, VTLB
Ans 1. KFAN

2. IDAM

3. LEYL

4. JEZM
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Q.39 उस विकल्प आकृ ति का चयन करें  जो नीचे दी गई आकृ ति में प्रश्न चिह्न (?) को प्रतिस्थापित करे गी और पैटर्न को
पूरा करे गी।

Ans

1. 

2. 

3. 

4. 

Q.40 निम्नलिखित में से कौन-सी संख्या दी गई श्रृंखला में प्रश्न चिह्न (?) को प्रतिस्थापित करे गी?
4, 9, 19, 39, 79, ?

Ans 1. 151

2. 153

3. 159

4. 152

Q.41 P, Q, R, S, T और U एक गोल मेज के  परित: कें द्र की ओर मुख करके  बैठे  हैं (लेकिन इसी क्रम में जरूरी नहीं)।
U, Q के  ठीक दाएं  बैठा है। U और R के  बीच के वल दो लोग बैठे  हैं। P, S के  ठीक बाएं  बैठा है। निम्नलिखित में
से कौन-सा विकल्प, S के  सन्दर्भ में T की स्थिति को दर्शाता है?

Ans 1. बाएं  से तीसरा

2. दाएं  से दूसरा

3. ठीक दाएं

4. बाएं  से दूसरा
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Q.42 उस विकल्प आकृ ति का चयन करें  जो नीचे दी गई आकृ ति में प्रश्न चिह्न (?) को प्रतिस्थापित करे गी और पैटर्न को
पूरा करे गी।

Ans

1. 

2. 

3. 

4. 

Q.43 दिए गए चार विकल्पों में से तीन विकल्प एक निश्चित तरीके  से समान हैं और इस प्रकार एक समूह बनाते हैं। वह
कौन-सा विकल्प है जो उस समूह से संबंधित नहीं है?
(नोट : असंगत अक्षर-समूह, शब्द में स्वरों या व्यंजनों की संख्या पर आधारित नहीं है।)

Ans 1. YVT

2. LHF

3. ROM

4. GDB

Q.44 यदि निम्‍नलिखित समीकरण में '+' और '–' को आपस में बदल दिया जाए और '×' और '÷' को आपस में बदल
दिया जाए, तो प्रश्न चिह्न (?) के  स्थान पर कौन-सी संख्या आएगी?
42 × 7 ÷ 13 – 67 + 13 = ?

Ans 1. 132

2. 145

3. 129

4. 121

Q.45 यदि 'A' का अर्थ '+' है, 'B' का अर्थ '–' है, 'C' का अर्थ '×' है और 'D' का अर्थ '÷' है, तो निम्नलिखित समीकरण
में प्रश्नवाचक चिह्न के  स्थान पर क्या आएगा?
7 C 9 B 35 D 5 A 3 = ?

Ans 1. 55

2. 52

3. 59

4. 49
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Q.46 दिए गए विकल्पों में से उस संख्या का चयन कीजिए जो निम्नलिखित श्रृंखला में प्रश्न चिह्न (?) के  स्‍थान पर आ
सकती है।
1, 65, 114, ?, 175, 191

Ans 1. 154

2. 160

3. 150

4. 144

Q.47 नीचे दो कथन और उसके  बाद दो निष्कर्ष I और II दिए गए हैं। कथनों को सत्य मानते हुए, भले ही वे सामान्य रूप
से ज्ञात तथ्यों से भिन्न प्रतीत होते हों, निर्णय लीजिए कि कौन-सा/से निष्कर्ष कथनों का तार्कि क रूप से अनुसरण
करता/करते है/हैं।
कथन:
सभी दू ध सफे द हैं।
कु छ सफे द लाल हैं।
निष्कर्ष:
I. सभी लाल दू ध हैं।
II. कोई लाल दू ध नहीं है।

Ans 1. के वल निष्कर्ष I अनुसरण करता है ।

2. के वल निष्कर्ष II अनुसरण करता है ।

3. न तो निष्कर्ष I और न ही II अनुसरण करता है ।

4. निष्कर्ष I और II दोनों अनुसरण करते हैं ।

Q.48 राहुल के  पिता मोनिका की माता के  इकलौते पुत्र हैं। मोनिका के  पति की सास का राहुल से क्या संबंध है?

Ans 1. चाची

2. दादी

3. बहन

4. माता

Q.49 यदि + का अर्थ ×, × का अर्थ −, − का अर्थ ÷ और ÷ का अर्थ + है, तो दिए गए व्यंजक का मान क्या होगा?
15 − 3 ÷ 25 × 7 + 3

Ans 1.  69

2. 27 

3.  9

4.  18

Q.50 तीन कथन दिए गए हैं, जिसके  बाद दो निष्कर्ष I और II दिए गए हैं। कथनों को सत्य मानते हुए, भले ही वे सामान्य
रूप से ज्ञात तथ्यों से भिन्न प्रतीत होते हों, निर्णय लीजिए कि कौन सा निष्कर्ष कथनों का तार्कि क रूप से अनुसरण
करता है।
कथन:
सभी पेपर, किताब हैं।
कु छ किताबें, नोटबुक हैं।
सभी नोटबुक, फाइल हैं।
निष्कर्ष:
I. कु छ पेपर, नोटबुक हैं।
II. सभी किताबें, फाइल हैं।

Ans 1. के वल निष्कर्ष I अनुसरण करता है ।

2. न तो निष्कर्ष I अनुसरण करता है  और न ही II अनुसरण करता है ।

3. निष्कर्ष I और II दोनों अनुसरण करते हैं ।

4. के वल निष्कर्ष II अनुसरण करता है ।

Section : General Awareness
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Q.1 अंतिम भारतीय ओलंपिक खेल ________ में आयोजित किए गए थे।

Ans 1. कलकत्ता

2. लाहौर

3. बंबई

4. दिल्ली

Q.2 उपन्यास और उसके  संबंधित लेखक के  सही संयोजन का चयन करें ।

Ans 1. अनटचेबल - आरके  नारायण

2. द गाइड - मुल्क राज आनंद

3. द व्हाइट टाइगर - अनीता देसाई

4. द ब्लू अम्ब्रेला - रस्किन बॉन्ड

Q.3 गुरुवयूर दोराई एक ________ वादक हैं।

Ans 1. तबला

2. सारंगी

3. मृदंगम

4. रुद्र वीणा

Q.4 निम्नलिखित में से किसने वर्ष 1779 में मरकरी ऑक्साइड द्वारा उत्सर्जि त किए गए तत्व के  लिए ऑक्सीजन नाम
तय किया था?

Ans 1. मार्टि न क्लाप्रोथ

2. जॉन डॉल्टन

3. जॉन्स जैकब ब्रजेलियस

4. एं टोनी लावोसिएर

Q.5 कौन-सा भौतिक विज्ञानी स्वर्ण पत्र प्रयोग (गोल्ड फॉइल एक्सपेरिमेंट) के  लिए प्रसिद्ध है?

Ans 1. नील्स बोहर

2. जॉन डाल्टन

3. अर्नेस्ट रदरफोर्ड

4. जे.जे. थॉमसन

Q.6 घरे लू टैरिफ के  लिए विद्युत ऊर्जा की खपत की एक यूनिट ____ के  बराबर होती है।

Ans 1. किलो वोल्ट एम्पीयर घंटा

2. किलो जूल घंटा

3. मिलीमीटर घंटा

4. किलोवाट-घंटा

Q.7 वर्ष 2011 की जनगणना के  अनुसार भारत में दिव्यांग जनसंख्या का प्रतिशत कितना है?

Ans 1. 2.21%

2. 2.97%

3. 3.63%

4. 1.33%

Q.8 दू ध में किस विटामिन का अभाव होता है?

Ans 1. D

2. B कॉम्प्लेक्स

3. C

4. A
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Q.9 निम्नलिखित में से कौन-सा भारत के  व्यापार घाटे का कारण है?

Ans 1. भारत का निर्यात और आयात बराबर है

2. भारत ने आयात बंद कर दिया है

3. भारत का आयात उसके  निर्यात से कम है

4. भारत का निर्यात उसके  आयात से कम है

Q.10 सामान्‍यत:, विकास के  साथ, कृ षि क्षेत्र का योगदान _________।

Ans 1. स्थिर रहता है

2. बढ़ता है

3. नियत रहता है

4. घटता है

Q.11

Ans 1. i-a,ii-b, iii-c, iv-d

2. i-d,ii-b, iii-c, iv-a

3. i-c,ii-d, iii-a, iv-b

4. i-a,ii-d, iii-c, iv-b

Q.12 जैविक क्षमता को किस प्रकार परिभाषित किया गया है?

Ans 1. उग्र पर्यावरणीय परिस्थितियों में जनसंख्या में कमी की प्रवृत्ति

2. आदर्श पर्यावरणीय परिस्थितियों में जनसंख्या के  जीवित रहने और नियत रहने की क्षमता

3. उग्र पर्यावरणीय परिस्थितियों में जनसंख्या के  नियत रहने की प्रवृत्ति

4. आदर्श पर्यावरणीय परिस्थितियों में जनसंख्या में वृद्धि करने की क्षमता

Q.13 चाड लाहो नृत्य-महोत्सव मुख्य रूप से मेघालय की निम्नलिखित में से किस जनजाति द्वारा मनाया जाता है?

Ans 1. होजांग

2. खासी

3. जयंतिया

4. गारो

Q.14 FIFA विश्व कप, 2022 कहाँ आयोजित हुआ था?

Ans 1. टोक्यो

2. क़तर

3. इंग्लैंड

4. फ़्रांस
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Q.15 निम्नलिखित में से कौन सा राज्य 2021 में वन धन विकास योजना के  तहत एक चैंपियन राज्य के  रूप में उभरा
था?

Ans 1. मणिपुर

2. असम

3. त्रिपुरा

4. मेघालय

Q.16 भारत में, निम्नलिखित में से कौन-सा राष्ट्रीय जलमार्ग सबसे लंबा है?

Ans 1. पश्चिमी तट नहर (कोट्टापुरम - कोल्लम), चंपकारा और उद्योगमंडल नहरें

2. ब्रह्मपुत्र नदी (धुबरी - सदिया)

3. उत्तरी बकिं घम नहर (चेन्नई के  पेद्दागंजम से सेंट्रल स्टेशन तक)

4. गंगा-भागीरथी-हुगली नदी प्रणाली (हल्दिया-इलाहाबाद)

Q.17 किस प्रकार की शैलें अपेक्षाकृ त उच्च तापमान पर और ठोस पदार्थों के  क्रिस्टलीकरण से बनती हैं?

Ans 1. अवसादी शैलें

2. कायांतरित शैलें

3. आग्नेय शैलें

4. ज्वालामुखीय शैलें

Q.18 ________ नृत्य आइकॉन माने जाने वाले वेदांतम सत्यनारायण सरमा को 'स्त्री-वेशम' हॉल ऑफ फे म में एक
प्रमुख स्थान प्राप्त है।

Ans 1. मोहिनीअट्टम

2. भरतनाट्यम

3. कथक

4. कु चिपुड़ी

Q.19 निम्नलिखित में से कौन-सा राज्य, पंजनद (पांच नदियों की भूमि) का भाग है?

Ans 1. पंजाब

2. के रल

3. गुजरात

4. सिक्किम

Q.20 निम्नलिखित में से किस स्थिति में प्राथमिक घाटा शून्य होता है?
A. यदि राजकोषीय घाटा शून्य है।
B. यदि ब्याज का भुगतान राजकोषीय घाटे के  बराबर है।

Ans 1. A और B दोनों

2. न तो A न ही B

3. के वल B

4. के वल A

Q.21 एतमादुद्दौला का मकबरा निम्नलिखित में से किस शहर में स्थित है?

Ans 1. आगरा

2. लखनऊ

3. गुंटूर

4. दिल्ली
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Q.22 जनवरी 2022 में इसरो (ISRO) के  अध्यक्ष के  रूप में किसने पदभार ग्रहण किया?

Ans 1. पी मुरलीधर

2. के  सीवन

3. एस सोमनाथ

4. के  एम राव

Q.23 कोशिका के  के न्द्रक की खोज किसने की थी?

Ans 1. रॉबर्ट हुक

2. ऐंटन वॉन ल्यूवेनहॉक

3. रॉबर्ट ब्राउन

4. वॉटसन

Q.24 गांधार स्कू ल ऑफ आर्ट के  अंतर्गत मूर्ति याँ पत्थर, टेराकोटा और _________ से बनाई गई थीं।

Ans 1. कं क्रीट

2. ग्रेनाइट

3. गजदंत

4. चिकनी मिट्टी

Q.25 जीवन और व्यक्तिगत स्वतंत्रता के  संरक्षण का अधिकार भारतीय संविधान के  किस अनुच्छेद के  तहत दिया गया
है?

Ans 1. अनुच्छेद 20

2. अनुच्छेद 23

3. अनुच्छेद 22

4. अनुच्छेद 21

Q.26 वित्तीय समावेशन का प्रमुख पहलू छोटे व्यवसायों के  लिए ऋण के  प्रवाह को सक्षम बनाना है। कें द्रीय बजट 2015-
16 की घोषणा के  अनुसरण में माइक्रो यूनिट्स डेवलपमेंट फाइनेंस एजेंसी (MUDRA) की स्थापना की गई थी
जिसके  परिणामस्वरूप निम्नलिखित में से कौन-सी योजना लागू की गई थी?

Ans 1. राष्ट्रीय युवा सशक्तिकरण कार्यक्रम

2. मिशन इंद्रधनुष

3. प्रधानमंत्री मुद्रा योजना (PMMY)

4. भाषा संगम पहल

Q.27 निम्नलिखित में से किस संगठन का संबंध विनायक दामोदर सावरकर से नहीं था?

Ans 1. हिं दू  महासभा

2. आज़ाद भारत समाज

3. अभिनव भारत समाज

4. सर्वेंट्स ऑफ इं डिया सोसाइटी

Q.28 15 जिलों को शामिल करते हुए ______________ पंचवर्षीय योजना के  दौरान पहाड़ी क्षेत्र विकास कार्यक्रम
शुरू किए गए थे।

Ans 1. दूसरी

2. चौथी

3. छठी

4. पांचवीं
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Q.29 द थाउजेंड फे सेस ऑफ नाइट (The Thousand Faces of Night) पुस्तक की लेखिका निम्नलिखित में से
कौन हैं?

Ans 1. नमिता गोखले

2. मीना अलेक्साण्डर

3. उर्वशी बुटालिया

4. गीता हरिहरन

Q.30 माधवी मुद्गल एक प्रसिद्ध _______ नृत्यांगना हैं।

Ans 1. मणिपुरी

2. ओडिसी

3. कत्थक

4. भरतनाट्यम

Q.31 भोजन में स्टार्च की उपस्थिति की पहचान करने के  लिए उपयोग किए जाने वाले विलयन का नाम क्या है?

Ans 1. क्लोरीन विलयन

2. कॉपर सल्फे ट विलयन

3. अमोनियम क्लोराइड

4. आयोडीन विलयन

Q.32 'ऑल रोड्स लीड टु गंगा (All Roads Lead to Ganga)' पुस्तक किस प्रसिद्ध लेखक द्वारा लिखी गई है?

Ans 1. सुधा मूर्ति

2. रस्किन बॉण्ड

3. अमीश त्रिपाठी

4. देवदत्त पटनायक

Q.33 निम्नलिखित में से कौन-सी प्रशासनिक इकाई शाहजहाँ के  शासनकाल के  दौरान शुरू की गई थी?

Ans 1. सुबह (Subah)

2. महाल (Mahals)

3. परगना (Paraganas)

4. चकला (Chakla)

Q.34 भारत में वसंत ऋतु का स्वागत करने के  लिए निम्नलिखित में से कौन-सा त्योहार मनाया जाता है?

Ans 1. दीपावली

2. होली

3. मकर संक्रांति

4. रज पर्व

Q.35 'स्क्वायर लेग' शब्द निम्नलिखित में से किस खेल से संबंधित है?

Ans 1. क्रिके ट

2. वालीबाल

3. फु टबॉल

4. बेसबॉल

Q.36 वित्तीय वर्ष 2022-23 के  लिए कें द्र सरकार की निम्नलिखित में से कौन-सी योजना 7.40% की निश्चित वार्षि क
पेंशन दर प्रदान करती है, जो मासिक रूप से देय होती है?

Ans 1. वरिष्ठ पेंशन बीमा योजना

2. निर्यात ऋण विकास योजना

3. आयुष्मान सहकार योजना

4. प्रधानमंत्री वय वंदना योजना
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Q.37 उस संरचना की पहचान कीजिए, जो गतिशीलता में भूमिका निभाती है।

Ans 1. पिली (Pili)

2. फिम्ब्रिया (Fimbria)

3. विली (Villi)

4. फ्लैजेला (Flagella)

Q.38 निम्नलिखित में से कौन-सी, अजंता और एलोरा की गुफाओं की चित्रकला और मूर्ति कला की सही व्याख्या है?

Ans 1. इन्हें  फारसी कला के  रूप में अधिकल्पित किया गया है ।

2. वे मध्यकालीन इस्लामी कला को निरूपित करते हैं ।

3. वे बौद्ध धार्मिक कला का चित्रण हैं ।

4. वे यहूदी धर्म में देवताओं के  प्रतीकात्मक निरूपण हैं ।

Q.39 घनत्व की इकाई क्या है?

Ans 1. वर्ग मीटर

2. किलोग्राम प्रति घन मीटर

3. किलोग्राम मीटर प्रति सेकं ड

4. घन मीटर

Q.40 भारत की पुरुषों की राष्ट्रीय क्रिके ट टीम ने जनवरी 2023 में _________ में खेले गए अंतिम तीसरे  एक-दिवसीय
मैच में श्रीलंका को 317 रनों से हराकर एक रिकॉर्ड बनाया है।

Ans 1. गुवाहाटी

2. कोलकाता

3. तिरुवनंतपुरम

4. राजकोट

Q.41 निम्नलिखित में से कौन एक प्रसिद्ध सितार वादक है?

Ans 1. बेगम अख्तर

2. इमरत खान

3. असद अली खान

4. राशिद खान

Q.42 1928 में सरदार वल्लभभाई पटेल किस प्रमुख किसान आं दोलन के  नेता थे?

Ans 1. चंपारण सत्याग्रह

2. बारदोली सत्याग्रह

3. जंगल सत्याग्रह

4. दांडी सत्याग्रह

Q.43 'जस्टिस फॉर द जज' भारत के  किस सेवानिवृत्त मुख्य न्यायाधीश की आत्मकथात्मक कृ ति है?

Ans 1. दीपक मिश्रा

2. नथलापति वेंकट रमण

3. मैडम मोहन पुंछी

4. रंजन गोगोई

Q.44 भारत की वर्ष 2011 की जनगणना के  अनुसार, निम्‍नलिखित में से सबसे कम जनसंख्या घनत्व वाले राज्यों का
कौन-सा समूह सही है?

Ans 1. मिज़ोरम, हरियाणा

2. अरुणाचल प्रदेश, मिज़ोरम

3. मिज़ोरम, मणिपुर

4. मेघालय, त्रिपुरा
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Q.45 बिरसा मुंडा अंतर्राष्‍ट्रीय हॉकी स्टेडियम, जो दुनिया का सर्वाधिक सीटों वाला हॉकी स्टेडियम भी है, निम्नलिखित में
से किस राज्य में स्थित है?

Ans 1. महाराष्ट्र

2. ओडिशा

3. उत्तर प्रदेश

4. गुजरात

Q.46 चंद्रगुप्त द्वितीय के  शासन के  संबंध में निम्नलिखित में से कौन-सा/से कथन सही है/हैं?
A) चंद्रगुप्त द्वितीय ने विक्रमादित्य की उपाधि धारण की।
B) कालिदास और अमर सिं ह उनके  दरबार का हिस्सा थे।

Ans 1. के वल A

2. के वल B

3. A और B, दोनों

4. न तो A न ही B

Q.47 कोएनोसाइट के  अन्य नाम की पहचान कीजिए।

Ans 1. कॉलर कोशिकाएँ

2. स्टेम कोशिकाएँ

3. शुक्राणु कोशिकाएँ

4. ज्वाला कोशिकाएँ

Q.48 निम्नलिखित में से कौन सा संवैधानिक निकाय अखिल भारतीय सेवाओं  के  लिए भर्ति यां करता है?

Ans 1. भाषाई अल्पसंख्यकों के  लिए विशेष अधिकारी

2. राष्ट्रीय पिछड़ा वर्ग आयोग

3. संघ लोक सेवा आयोग

4. राष्ट्रीय अनुसूचित जनजाति आयोग

Q.49 भारतीय भाषा समाचार पत्रों की स्वतंत्रता को सीमित करने के  लिए ब्रिटिश भारत में, वर्नाक्यूलर प्रेस एक्ट किस वर्ष
लागू किया गया था?

Ans 1. 1879

2. 1876

3. 1878

4. 1875

Q.50 निम्नलिखित में से कौन महाराजाधिराज की उपाधि धारण करने वाला पहला स्वतंत्र गुप्त राजा था?

Ans 1. घटोत्कच गुप्त

2. श्रीगुप्त I

3. चंद्रगुप्त I

4. रामगुप्त

Q.1 Select the option that expresses the given sentence in passive voice.
Leo Tolstoy wrote many stories for children.

Ans 1. Many stories were written by children for Leo Tolstoy.

2. Many stories have been written for children by Leo Tolstoy.

3. Many stories were written for children by Leo Tolstoy.

4. Many children wrote stories for Leo Tolstoy.

Section : English Language and Comprehension
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Q.2 Parts of a sentence are given below in jumbled order. Select the option that gives their
correct logical sequence and forms a meaningful sentence.
The first part 'He wrapped himself' is fixed.

He wrapped himself / two sweatshirts (P) / with a blanket, (Q) / was wearing (R) /
though he (S)

Ans 1. Q, R, P, S 

2. S, P, Q, R

3. P, Q, S, R

4. Q, S, R, P 

Q.3 Select the option that expresses the given sentence in passive voice.

Mr. Suman opened the door.
Ans 1. The door was being opened by Mr. Suman.

2. The door is being opened by Mr. Suman.

3. The door was opened by Mr. Suman.

4. The door is opened by Mr. Suman.

Q.4 Select the most appropriate option to substitute the underlined word segment in the
given sentence.
Take a lot of care in writing official letters because they leave a trail behind.

Ans 1. a lasting impression

2. a temporary exposure

3. a longing desire

4. a sound effect

Q.5 Select the most appropriate meaning of the given idiom.
Made his mark

Ans 1. To take a stand

2. To fail in the task

3. To make a colourful exit

4. To distinguish himself

Q.6 Select the option that expresses the given sentence in direct speech.

She told her friend that she had been studying for her examination.
Ans 1. She told her friend, “I was studying for my examination.”

2. She told her friend, “I am studying for my examination.”

3. She tells her friend, “I have been studying for my examination.”

4. She told her friend, “I had studied for my examination.”

Q.7 Select the most appropriate ANTONYM of the given word.
Inquisitive

Ans 1. Indolent

2. Curious

3. Uninterested

4. Dull

Q.8 Identify the segment that contains an error in the given sentence.

Gandhi ji considered it wrongly to use unfair means even for fair ends.
Ans 1. even for fair ends

2. it wrongly

3. Gandhi ji considered

4. to use unfair means
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Q.9 Select the sentence that requires the article ‘the’.
Ans 1. They share rent of the house equally.

2. He lives somewhere in southern Germany.

3. She has an abundance of cake at home.

4. She is ignorant of her social standing.

Q.10 Select the most appropriate meaning of the underlined word.
Sarika’s husband had been undergoing vicissitudes in his fortune since 2002.

Ans 1. compilations

2. consolations

3. hibernations

4. tribulations

Q.11 Select the option that expresses the given sentence in active voice.
When is this car driven by you?

Ans 1. When do you drive this car?  

2. When will you drive this car? 

3. When did you drive this car? 

4. When should you drive this car?  

Q.12 Select the option that expresses the given sentence in reported speech.
“Why is he crying?” he asked.

Ans 1. He asked why she crying. 

2. She asked why he is crying.

3. She asked why he was crying.

4. He asked why he was crying. 

Q.13 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.

P. some experienced teachers say that
Q. teaching about English is easy and
R. teaching English is difficult as
S. the latter needs dedication, resources and many more

Ans 1. PSQR

2. PSRQ

3. PRSQ

4. PQRS

Q.14 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
Though the / global financial crisis, / China's economy continues / to grow at an
impressive rate.

Ans 1. global financial crisis,

2. Though the

3. to grow at an impressive rate.

4. china's economy continues

Q.15 Select the most appropriate ANTONYM of the underlined word.

Amrit felt a chill run down his spine as Mrityu gazed at him mid-conversation.
Ans 1. shouted

2. stared

3. glanced

4. shot
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Q.16 Select the most appropriate option to substitute the underlined segment in the given
sentence.
While I was waiting for Asha for shopping, I spilled lemonade on my new trousers.

Ans 1. to see shopping

2. to hold shop 

3. to shopper 

4. to shop 

Q.17 Select the option that expresses the given sentence in passive voice.
People think the government will change the economic policies.

Ans 1. The government has been thinking to change the economic policies. 

2. The government will think to change the economic policies. 

3. It is thought that the economic policies will be changed by the government.

4. People thought that the government will change the economic policies.

Q.18 Select the option that expresses the given sentence in active voice.

The questions were framed by the content creators just to assess the skills of the test
takers.

Ans 1. The content creators were framing the questions just to assess the skills of the test
takers.

2. The content creators had framed the questions just to assess the skills of the test
takers.

3. The content creators framed the questions just to assess the skills of the test takers.

4. The content creators could frame the questions just to assess the skills of the test
takers.

Q.19 Select the option that expresses the given sentence in passive voice.
When will you play the musical instrument in the event?

Ans 1. When was the music instrument played by you in the event? 

2. When will the music instrument be played by you in the event?  

3. When will the music instrument be played in the event?  

4. When should the music instrument be played by you in the event?  

Q.20 Select the option that expresses the given sentence in reported speech.
The father said, “Ramu, try again”.

Ans 1. The father advised Ramu to try again.

2. The father said that Ramu tries again.

3. The father requested Ramu to try again.

4. The father told Ramu that he tried again.

Q.21 The following sentence has been divided into parts. One of them contains an error.
Select the part that contains the error from the given options.
I am sorry / to intrude by / you at / such a time.

Ans 1. you at

2. to intrude by

3. such a time.

4. I am sorry
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Q.22 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A.Positive thinking leads a man to success. One who thinks that he can achieve the
things will put his best to achieve.
B.Self-confidence, determination, perseverance, and hard work are the key factors of
success.
C.He will not fetter by the problems in the path of success and one day he will win
positively.
D.Every small or big, easy, or complex problem has its solution. There is a way out of
every labyrinth, there is an answer to every enigma.

Ans 1. D, C, B, A

2. B, C, A, D

3. A, C, B, D

4. C, D, B, A

Q.23 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.
Raghu did not get the job / because he did not have / experience enough for the post.

Ans 1. Raghu did not get the job

2. experience enough for the post 

3. because he did not have

4. No error 

Q.24 Select the option that expresses the given sentence in indirect speech.
They said, "We were planning to visit you next week."

Ans 1. They said that they had been planning to visit him the following week.

2. They said that they had planned to visit him next week.

3. They said that they have been planning to visit him next week.

4. They said that they are planning to visit him the coming week.

Q.25 Select the option that expresses the given sentence in passive voice.

I shared a clipping of myself dead-lifting and doing back squats.
Ans 1. A clipping of myself doing dead-lifting and back squats was shared by me.

2. A clipping of myself doing dead-lifting and back squats is shared by me.

3. Dead-lifting and back squats are being done by myself.

4. A clipping of myself doing dead-lifting and back squats are being shared by me.

Q.26 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.
Villagers / who approached the agriculture officer / are uneducated and poor.

Ans 1. No error

2. who approached the agriculture officer

3. are uneducated and poor

4. Villagers

Q.27 Select the correct version of the following sentence.
He would be meet us next week.

Ans 1. He will be meeting us next week.

2. He would be meets us next week.

3. He would not be met us next week.

4. He will be meet us next week.
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Q.28 Select the most appropriate option to fill in the blank.
There ______ been too many incidents of thefts lately.

Ans 1. was

2. have

3. has

4. has not

Q.29 Select the most appropriate meaning of the underlined idiom.

It was just an action in the nick of time that prepared all of us for further arrangements.
Ans 1. Delayed as expected

2. Just in time 

3. Forceful labour

4. Unnatural happenings

Q.30 Select the most appropriate option to fill in the blank.
The business operates ________ the same way as the other businesses did.

Ans 1. such

2. much

3. had

4. very

Q.31 Select the option that expresses the given sentence in passive voice.

Somebody paid the workers 2000 rupees.
Ans 1. The workers were being paid 2000 rupees. 

2. 2000 rupees is paid to the workers.

3. The workers were paid 2000 rupees.

4. 2000 rupees has been paid to the workers. 

Q.32 Select the most appropriate ANTONYM of the underlined word in the given sentence.
She looked tired and sallow after the long day she’d had.

Ans 1. Paled

2. Livid

3. Flushed 

4. Pallid 

Q.33 Select the most appropriate meaning of the given idiom.

To have sticky fingers
Ans 1. To have a tendency to steal 

2.  To punish for a crime

3. To be suspicious

4. To remain joyful in a difficult situation 

Q.34 Select the option that expresses the given sentence in indirect speech.
He said, “Alas! I am a ruined man.”

Ans 1. He cried out with sorrow that he was a ruined man. 

2. He applauded with sorrow that he was a ruined man.

3. He confessed with sorrow that he was a ruined man. 

4. He wished that he was a ruined man. 
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Q.35 The following sentence has been split into four segments. Identify the segment that
contains an error.

A Himalayas stretch across / the north-east part / of India and pass / through many
countries.

Ans 1. of India and pass

2. A Himalayas stretch across

3. through many countries

4. the north-east part

Q.36 Select the option that gives the most appropriate meaning of the underlined word.
Jack was given the responsibility of driving, as he was the only teetotaller.

Ans 1. Responsible citizen of the country with high self-esteem 

2. Person who habitually drinks to the point of losing control 

3.  Person with imagination and creative potential

4. Person who completely abstains from intoxicating drinks like alcohol

Q.37 Select the most appropriate option to fill in the blank.

Adult Education is a great step that must be taken by all the countries as it will
__________ a lot of issues. The third world countries must especially work to make
this happen so they can prosper.

Ans 1. resolve

2. contradict

3. permeate

4. stagnate

Q.38 Select the option that expresses the following sentence in indirect speech.

“I have not completed the assignment yet,” the student admitted.
Ans 1. The student admitted that he/she hadn’t been able to complete the assignment yet.

2. The student admitted that he/she hasn't been able to complete the assignment yet.

3. The student admitted that he/she hasn’t completed the assignment yet.

4. The student admitted that he/she hadn’t completed the assignment yet.

Q.39 Parts of a sentence are given below in jumbled order. Select the option that arranges
the parts in the correct sequence to form a meaningful sentence.

(P) the paintings of Sayed Haider Raza blended
(Q) considered as one of the
(R) foremost pioneers of Indian modern art
(S) parisian modernism with the colours of Indian Rajput art

Ans 1. P, S, Q, R 

2. R, P, S, Q 

3. Q, R, P, S 

4. P, Q, R, S 

Q.40 Select the most appropriate meaning of the given idiom.
On the ball

Ans 1. To be unaware of any changes happening around 

2. To be inattentive 

3. To not understand a situation well 

4. To be aware of any changes or developments and quick to react to them
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Q.41 Select the most appropriate meaning of the given idiom.

Call it a day
Ans 1. To stop worrying over something

2. To reach the destination 

3. To avoid meeting someone 

4. To decide to stop doing something 

Q.42 Select the option that expresses the given sentence in active voice.
The experiment is being completed by the whole class.

Ans 1. The whole class has completed the experiment.

2. The whole class has been completing experiment. 

3. The whole class completes the experiment.

4. The whole class is completing the experiment.

Q.43 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
The bridge that connect the two sides of the city broke today.

Ans 1. that have connect

2. that have been connecting

3. that connects

4. that has connect

Q.44 Select the most appropriate option to fill in the blank.
The seven ________ for accreditation were presented in a seminar organised by the
university.

Ans 1. criterion

2. criterias

3. criterions

4. criteria

Q.45 Select the option that expresses the given sentence in active voice.

The letter had been posted by me before I met him.
Ans 1. I met him after posting the letter. 

2. I had posted the letter after meeting him.  

3. I had posted the letter before I met him.  

4. The letter has been posted by me before I had met him.  

Q.46 Select the most appropriate meaning of the following idiom.

Milk of human kindness
Ans 1. Victory

2. Bravery

3. Compassion

4. Luck

Q.47 Select the option that expresses the given sentence in direct speech.
Tom said that he had a strange experience the day before.

Ans 1. Tom said, “I had a strange experience yesterday.”

2. Tom exclaimed,''What a strange experience it was!"

3. Tom said, “I must have a strange experience the day before.”

4. Tom said, “I will have a strange experience the day before.”
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Q.48 Select the most appropriate synonym of the underlined word.

His lecture was terse and interesting.
Ans 1. inert

2. overt

3. braggart

4. short

Q.49 Select the option that expresses the given sentence in direct speech.
Calling me a friend, Surjit Singh encouraged me and advised me not to lose heart.

Ans 1. Surjit Singh demanded, “Cheer up, friend. Do not lose heart.”

2. Surjit Singh ordered me, “Cheer up, friend. Do not lose heart.”

3. Surjit Singh said, “Cheer up, friend. Do not lose heart.”

4. Surjit Singh asked me, “Cheer up, friend. Do not lose heart.”

Q.50 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
So Mahesh is much sensitive, / we are very careful / when communicating with him /
about his failures.

Ans 1. So Mahesh is much sensitive,

2. when communicating with him

3. we are very careful

4. about his failures

Q.51 Select the most appropriate ANTONYM of the given word.

Intent
Ans 1. involved

2. uncertain

3. rigid

4. alert

Q.52 Select the option that expresses the given sentence in indirect speech.

The manager said to the peon, “Why were you absent yesterday?”
Ans 1. The manager asked the peon why he had been absent the previous day. 

2. The manager enquired why the peon was absent the previous day.

3. The manager asked the peon why he was absent the previous day.

4. The manager asked the peon why had he been absent the previous day.

Q.53 The following sentence contains four underlined words and are given as options.
Identify the option that contains an error.
They were sitting on the chairs in the class talking to each other when they entered in
a heated argument.

Ans 1. To

2. When

3. On

4. In

Q.54 Select the option that expresses the given sentence in indirect speech.

He said, “My mother will be here tomorrow.”
Ans 1. He said that my mother will be here the next day. 

2. He said that his mother would be there the next day. 

3. He said that his mother would be here tomorrow. 

4. He said that my mother will be here tomorrow. 
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Q.55 Select the option that expresses the given sentence in active voice.

He must be written to by us.
Ans 1. I have been writing to him.

2. We must write to him.

3. We are writing to him.

4. We can write.

Q.56 Select the most appropriate option to fill in the blank.
It may seem __________ that the hours of women’s chores at home have not declined
inspite of the availability of many appliances (gas, electric ranges, washing machines,
etc.)

Ans 1. promising

2. perceiving

3. persisting

4. perplexing

Q.57 Select the most appropriate ANTONYM of the underlined word in the given sentence.
His request was overlooked by the management.

Ans 1. Neglected

2. Ignored

3. Disdained

4. Considered

Q.58 Select the option that expresses the given sentence in indirect speech.
The boss said to the secretary, “Don’t forget to order A3 size paper.”

Ans 1. The boss told the secretary that she didn’t forget to order A3 size paper.

2. The boss asked the secretary to order A3 size paper.

3. The boss told the secretary that she should not forget to order A3 size paper.

4. The boss instructed the secretary not to forget to order A3 size paper.

Q.59 Select the most appropriate ANTONYM of the underlined word.

The enemy, even if it is a child, is a challenge and needs to be removed from his path.
Ans 1. solution

2. threat

3. nuisance

4. problem

Q.60 Identify the error in the following sentence.
I always love to eat snacks at the evening.

Ans 1. always

2. at

3. snacks

4. to

Q.61 Select the word segment that can substitute the bracketed word segment correctly
and complete the sentence meaningfully.
(Everyone carefully were trying to) reason with the CEO regarding the need for work-
life balance during the upcoming festivals.

Ans 1. Everyone was carefully trying to 

2. Everyone were carefully trying to 

3. Everyone had carefully trying to 

4. Everyone did carefully tried to 
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Q.62 Change the sentence from direct speech to indirect speech:
She said, “Don’t the children like the cake?”

Ans 1. she asked me whether the children didn’t like the cake.

2. She asked whether the children liked the cake.

3. She wondered why the children didn’t like the cake.

4. She enquired about whether the children liked the cake.

Q.63 Select the most appropriate synonym of the given word.
Abandon

Ans 1. Possess

2. Reclaim

3. Commence

4. Desert

Q.64 Select the most appropriate ANTONYM to replace the italicised word in the given
sentence.
I am astonished to see her mercurial demeanour in making any task a success.

Ans 1. erratic

2. invariable

3. capricious

4. fluctuant

Q.65 Parts of the following sentence have been given as options. Select the option that
contains an error.
I shall be cook my favourite dish tonight for the party.

Ans 1. tonight for 

2. my favourite dish 

3. the party 

4. I shall be cook 

Q.66 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
(A) Ask your employer for information on the child care scheme.
(B) If the employer does not contribute to the costs, the government will do so.
(C) The employers of both parents are expected to contribute to child care.
(D) The Government policy on child care was designed as a welfare scheme for
citizens.

Ans 1. DCAB

2. BDAC

3. CDBA

4. BACD

Q.67 Select the most appropriate ANTONYM of the given word.

Mutely
Ans 1. Loudly

2. Silently

3. Forcefully

4. Promptly
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Q.68 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.

O) arid deserts
P) from lush forests to
Q) hikers encountered diverse ecosystems
R) trekking through the wilderness

Ans 1. QPOR

2. RQPO

3. PRQO

4. OPQR

Q.69 Identify the errors in the given sentence and choose the sentence that rectifies these
errors.
Doctor she spoke to at a exhibition was very knowledgeable. The medicines
prescribed by him have proved excellent for my father.

Ans 1. The doctor she spoke to at the exhibition was very knowledgeable. A medicines
prescribed by him have proved excellent for my father. 

2. The doctor she spoke to at the exhibition was very knowledgeable. The medicines
prescribed by him have proved excellent for my father. 

3. The doctor she spoke to at exhibition was very knowledgeable. The medicines
prescribed by him have proved excellent for my father. 

4. Doctor she spoke to at the exhibition was very knowledgeable. The medicines
prescribed by him have proved excellent for my father. 

Q.70 Select the option that expresses the given sentence in active voice.

Stones were thrown at the dog.
Ans 1. They threw stones at the dog. 

2. They had been throwing stones at the dog. 

3. They throw stones at the dog. 

4. They were throwing stones at the dog. 

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Child prodigies are a miraculous category of children that (1)________ bestowed with
undying attention because of their exceptional skills in every domain of their curricula. When
we speak of (2)________ changes in society, we grant its responsibility to child prodigies.
(3)________ these are children who thrive everywhere, their parents are overjoyed when they
win the lottery, and their peers are envious of them, research shows that young prodigies
rarely go on to change the course of history. According to psychologists, many of history’s
most (4)________ and important figures weren’t particularly talented as kids. To paraphrase
TS Eliot, their careers tend to end not with a bang, but (5)________.
Although child prodigies frequently possess a wealth of intelligence and ambition, their
inability to develop unique thoughts prevents them from advancing society.

SubQuestion No : 71
Q.71 Select the most appropriate option to fill in blank number 1.
Ans 1. are

2. is

3. were

4. was
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Child prodigies are a miraculous category of children that (1)________ bestowed with
undying attention because of their exceptional skills in every domain of their curricula. When
we speak of (2)________ changes in society, we grant its responsibility to child prodigies.
(3)________ these are children who thrive everywhere, their parents are overjoyed when they
win the lottery, and their peers are envious of them, research shows that young prodigies
rarely go on to change the course of history. According to psychologists, many of history’s
most (4)________ and important figures weren’t particularly talented as kids. To paraphrase
TS Eliot, their careers tend to end not with a bang, but (5)________.
Although child prodigies frequently possess a wealth of intelligence and ambition, their
inability to develop unique thoughts prevents them from advancing society.

SubQuestion No : 72
Q.72 Select the most appropriate option to fill in blank number 2.
Ans 1. ordinary

2. remarkable

3. forgotten

4. professional

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Child prodigies are a miraculous category of children that (1)________ bestowed with
undying attention because of their exceptional skills in every domain of their curricula. When
we speak of (2)________ changes in society, we grant its responsibility to child prodigies.
(3)________ these are children who thrive everywhere, their parents are overjoyed when they
win the lottery, and their peers are envious of them, research shows that young prodigies
rarely go on to change the course of history. According to psychologists, many of history’s
most (4)________ and important figures weren’t particularly talented as kids. To paraphrase
TS Eliot, their careers tend to end not with a bang, but (5)________.
Although child prodigies frequently possess a wealth of intelligence and ambition, their
inability to develop unique thoughts prevents them from advancing society.

SubQuestion No : 73
Q.73 Select the most appropriate option to fill in blank number 3.
Ans 1. Nonetheless

2. Which

3. So that

4. Neither

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Child prodigies are a miraculous category of children that (1)________ bestowed with
undying attention because of their exceptional skills in every domain of their curricula. When
we speak of (2)________ changes in society, we grant its responsibility to child prodigies.
(3)________ these are children who thrive everywhere, their parents are overjoyed when they
win the lottery, and their peers are envious of them, research shows that young prodigies
rarely go on to change the course of history. According to psychologists, many of history’s
most (4)________ and important figures weren’t particularly talented as kids. To paraphrase
TS Eliot, their careers tend to end not with a bang, but (5)________.
Although child prodigies frequently possess a wealth of intelligence and ambition, their
inability to develop unique thoughts prevents them from advancing society.

SubQuestion No : 74
Q.74 Select the most appropriate option to fill in blank number 4.
Ans 1. lame

2. notable

3. researcher

4. dumb
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Child prodigies are a miraculous category of children that (1)________ bestowed with
undying attention because of their exceptional skills in every domain of their curricula. When
we speak of (2)________ changes in society, we grant its responsibility to child prodigies.
(3)________ these are children who thrive everywhere, their parents are overjoyed when they
win the lottery, and their peers are envious of them, research shows that young prodigies
rarely go on to change the course of history. According to psychologists, many of history’s
most (4)________ and important figures weren’t particularly talented as kids. To paraphrase
TS Eliot, their careers tend to end not with a bang, but (5)________.
Although child prodigies frequently possess a wealth of intelligence and ambition, their
inability to develop unique thoughts prevents them from advancing society.

SubQuestion No : 75
Q.75 Select the most appropriate option to fill in blank number 5.
Ans 1. a reconcile

2. a whimper

3. an indomitable

4. an impalpable

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A savanna is a kind of rolling grassland dotted with isolated trees and shrubs. The grasslands
of Australia are known as the bush. The grassland plains of North America are referred to as
the prairie. A vast plain with hills and forests is called savanna. Africa has the (1)______
savannas. In the savanna of Africa, wet and dry are the two seasons. The dry season is
shorter for two to three months near the equator, longer for nine to ten months near the
tropics, and longer for five to six months in the majority of the savanna. Heavy downpours
(2)______ during the wet seasons. In the dry seasons,vegetative life develops exceptionally
quickly. Savanna grass rises two to three metres whereas forests are sparse. There are
places where there aren’t many trees. Strong evaporation (3)_______ tree leaves to fall off
and bushes and grass to wither during the dry season. It frequently starts a fire that spreads
to large areas. Everything (4)_______ so lovely during the wet season—grass sprouts, trees
and bushes turn green, and so on. Take a stroll through the savanna to see a (5)________ of
animals, including elephants, giraffes, and zebras. The savanna is also home to the lion, the
animal king.

SubQuestion No : 76
Q.76 Select the most appropriate option to fill in blank number 1.
Ans 1. heaviest

2. fattest

3. biggest

4. cleverest
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A savanna is a kind of rolling grassland dotted with isolated trees and shrubs. The grasslands
of Australia are known as the bush. The grassland plains of North America are referred to as
the prairie. A vast plain with hills and forests is called savanna. Africa has the (1)______
savannas. In the savanna of Africa, wet and dry are the two seasons. The dry season is
shorter for two to three months near the equator, longer for nine to ten months near the
tropics, and longer for five to six months in the majority of the savanna. Heavy downpours
(2)______ during the wet seasons. In the dry seasons,vegetative life develops exceptionally
quickly. Savanna grass rises two to three metres whereas forests are sparse. There are
places where there aren’t many trees. Strong evaporation (3)_______ tree leaves to fall off
and bushes and grass to wither during the dry season. It frequently starts a fire that spreads
to large areas. Everything (4)_______ so lovely during the wet season—grass sprouts, trees
and bushes turn green, and so on. Take a stroll through the savanna to see a (5)________ of
animals, including elephants, giraffes, and zebras. The savanna is also home to the lion, the
animal king.

SubQuestion No : 77
Q.77 Select the most appropriate option to fill in blank number 2.
Ans 1. occur

2. conquer

3. pass

4. materialise

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A savanna is a kind of rolling grassland dotted with isolated trees and shrubs. The grasslands
of Australia are known as the bush. The grassland plains of North America are referred to as
the prairie. A vast plain with hills and forests is called savanna. Africa has the (1)______
savannas. In the savanna of Africa, wet and dry are the two seasons. The dry season is
shorter for two to three months near the equator, longer for nine to ten months near the
tropics, and longer for five to six months in the majority of the savanna. Heavy downpours
(2)______ during the wet seasons. In the dry seasons,vegetative life develops exceptionally
quickly. Savanna grass rises two to three metres whereas forests are sparse. There are
places where there aren’t many trees. Strong evaporation (3)_______ tree leaves to fall off
and bushes and grass to wither during the dry season. It frequently starts a fire that spreads
to large areas. Everything (4)_______ so lovely during the wet season—grass sprouts, trees
and bushes turn green, and so on. Take a stroll through the savanna to see a (5)________ of
animals, including elephants, giraffes, and zebras. The savanna is also home to the lion, the
animal king.

SubQuestion No : 78
Q.78 Select the most appropriate option to fill in blank number 3.
Ans 1. causes

2. source

3. root

4. reason
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A savanna is a kind of rolling grassland dotted with isolated trees and shrubs. The grasslands
of Australia are known as the bush. The grassland plains of North America are referred to as
the prairie. A vast plain with hills and forests is called savanna. Africa has the (1)______
savannas. In the savanna of Africa, wet and dry are the two seasons. The dry season is
shorter for two to three months near the equator, longer for nine to ten months near the
tropics, and longer for five to six months in the majority of the savanna. Heavy downpours
(2)______ during the wet seasons. In the dry seasons,vegetative life develops exceptionally
quickly. Savanna grass rises two to three metres whereas forests are sparse. There are
places where there aren’t many trees. Strong evaporation (3)_______ tree leaves to fall off
and bushes and grass to wither during the dry season. It frequently starts a fire that spreads
to large areas. Everything (4)_______ so lovely during the wet season—grass sprouts, trees
and bushes turn green, and so on. Take a stroll through the savanna to see a (5)________ of
animals, including elephants, giraffes, and zebras. The savanna is also home to the lion, the
animal king.

SubQuestion No : 79
Q.79 Select the most appropriate option to fill in blank number 4.
Ans 1. examines

2. gapes

3. studies

4. looks

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A savanna is a kind of rolling grassland dotted with isolated trees and shrubs. The grasslands
of Australia are known as the bush. The grassland plains of North America are referred to as
the prairie. A vast plain with hills and forests is called savanna. Africa has the (1)______
savannas. In the savanna of Africa, wet and dry are the two seasons. The dry season is
shorter for two to three months near the equator, longer for nine to ten months near the
tropics, and longer for five to six months in the majority of the savanna. Heavy downpours
(2)______ during the wet seasons. In the dry seasons,vegetative life develops exceptionally
quickly. Savanna grass rises two to three metres whereas forests are sparse. There are
places where there aren’t many trees. Strong evaporation (3)_______ tree leaves to fall off
and bushes and grass to wither during the dry season. It frequently starts a fire that spreads
to large areas. Everything (4)_______ so lovely during the wet season—grass sprouts, trees
and bushes turn green, and so on. Take a stroll through the savanna to see a (5)________ of
animals, including elephants, giraffes, and zebras. The savanna is also home to the lion, the
animal king.

SubQuestion No : 80
Q.80 Select the most appropriate option to fill in blank number 5.
Ans 1. peak

2. mixture

3. array

4. variety
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Shan's mother passed away a month ago. From that very moment, his life underwent a
drastic change. Life became (1)_______ for him. He would often lock himself (2)______ in his
room and did not come out for hours together. That was a usual day, he locked himself. When
the day turned into night and he did not come out, his elder sister got anxious and knocked at
the door (3)________. She struggled with the lock of the door but when she failed, she called
some people for help. While those people were busy in breaking the lock of the door, they
heard the (4)______ of porcelain from inside. They tried hard to open the door and ultimately
succeeded. On entering, they found Shan's body lying on the floor with arms and legs
(5)_______. His sister wondered who could have broken the plate. All she wished Shan to
rest in peace and meet their dead mother .

SubQuestion No : 81
Q.81 Select the most appropriate option to fill in blank no. 1.
Ans 1. ecstatic

2. comfortable

3. satisfactory

4. intolerable

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Shan's mother passed away a month ago. From that very moment, his life underwent a
drastic change. Life became (1)_______ for him. He would often lock himself (2)______ in his
room and did not come out for hours together. That was a usual day, he locked himself. When
the day turned into night and he did not come out, his elder sister got anxious and knocked at
the door (3)________. She struggled with the lock of the door but when she failed, she called
some people for help. While those people were busy in breaking the lock of the door, they
heard the (4)______ of porcelain from inside. They tried hard to open the door and ultimately
succeeded. On entering, they found Shan's body lying on the floor with arms and legs
(5)_______. His sister wondered who could have broken the plate. All she wished Shan to
rest in peace and meet their dead mother .

SubQuestion No : 82
Q.82 Select the most appropriate option to fill in blank no. 2.
Ans 1. off

2. out

3. over

4. up

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Shan's mother passed away a month ago. From that very moment, his life underwent a
drastic change. Life became (1)_______ for him. He would often lock himself (2)______ in his
room and did not come out for hours together. That was a usual day, he locked himself. When
the day turned into night and he did not come out, his elder sister got anxious and knocked at
the door (3)________. She struggled with the lock of the door but when she failed, she called
some people for help. While those people were busy in breaking the lock of the door, they
heard the (4)______ of porcelain from inside. They tried hard to open the door and ultimately
succeeded. On entering, they found Shan's body lying on the floor with arms and legs
(5)_______. His sister wondered who could have broken the plate. All she wished Shan to
rest in peace and meet their dead mother .

SubQuestion No : 83
Q.83 Select the most appropriate option to fill in blank no. 3.
Ans 1. sincerely

2. conscientiously

3. relentlessly

4. unconsciously
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Shan's mother passed away a month ago. From that very moment, his life underwent a
drastic change. Life became (1)_______ for him. He would often lock himself (2)______ in his
room and did not come out for hours together. That was a usual day, he locked himself. When
the day turned into night and he did not come out, his elder sister got anxious and knocked at
the door (3)________. She struggled with the lock of the door but when she failed, she called
some people for help. While those people were busy in breaking the lock of the door, they
heard the (4)______ of porcelain from inside. They tried hard to open the door and ultimately
succeeded. On entering, they found Shan's body lying on the floor with arms and legs
(5)_______. His sister wondered who could have broken the plate. All she wished Shan to
rest in peace and meet their dead mother .

SubQuestion No : 84
Q.84 Select the most appropriate option to fill in blank no. 4.
Ans 1. rattling

2. spinning

3. smashing

4. jingling

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Shan's mother passed away a month ago. From that very moment, his life underwent a
drastic change. Life became (1)_______ for him. He would often lock himself (2)______ in his
room and did not come out for hours together. That was a usual day, he locked himself. When
the day turned into night and he did not come out, his elder sister got anxious and knocked at
the door (3)________. She struggled with the lock of the door but when she failed, she called
some people for help. While those people were busy in breaking the lock of the door, they
heard the (4)______ of porcelain from inside. They tried hard to open the door and ultimately
succeeded. On entering, they found Shan's body lying on the floor with arms and legs
(5)_______. His sister wondered who could have broken the plate. All she wished Shan to
rest in peace and meet their dead mother .

SubQuestion No : 85
Q.85 Select the most appropriate option to fill in blank no. 5.
Ans 1. momentum

2. outspread

3. spacious

4. poles apart

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Centuries ago, Aryabhata, one of the most famous Indian mathematicians and astronomers
(1)__________ the concept of zero, the base of the present (2)_______ system. With time,
zero became a stepping stone to (3)_______ simplified computations, (4)______ the ways for
development of algebra, algorithms and calculus, three pillars of modern mathematics, while
eventually laying the (5)______ for computers.

SubQuestion No : 86
Q.86 Select the most appropriate option to fill in blank 1.
Ans 1. propound 

2. propounds 

3. has propounded 

4. propounded 
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Centuries ago, Aryabhata, one of the most famous Indian mathematicians and astronomers
(1)__________ the concept of zero, the base of the present (2)_______ system. With time,
zero became a stepping stone to (3)_______ simplified computations, (4)______ the ways for
development of algebra, algorithms and calculus, three pillars of modern mathematics, while
eventually laying the (5)______ for computers.

SubQuestion No : 87
Q.87 Select the most appropriate option to fill in blank 2.
Ans 1. numerological

2. numerology 

3. numeral

4. numerically 

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Centuries ago, Aryabhata, one of the most famous Indian mathematicians and astronomers
(1)__________ the concept of zero, the base of the present (2)_______ system. With time,
zero became a stepping stone to (3)_______ simplified computations, (4)______ the ways for
development of algebra, algorithms and calculus, three pillars of modern mathematics, while
eventually laying the (5)______ for computers.

SubQuestion No : 88
Q.88 Select the most appropriate option to fill in blank 3.
Ans 1. sadly

2. many

3. much

4. scarcely

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Centuries ago, Aryabhata, one of the most famous Indian mathematicians and astronomers
(1)__________ the concept of zero, the base of the present (2)_______ system. With time,
zero became a stepping stone to (3)_______ simplified computations, (4)______ the ways for
development of algebra, algorithms and calculus, three pillars of modern mathematics, while
eventually laying the (5)______ for computers.

SubQuestion No : 89
Q.89 Select the most appropriate option to fill in blank 4.
Ans 1. was paved

2. have paved

3. paving

4. has been paved

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Centuries ago, Aryabhata, one of the most famous Indian mathematicians and astronomers
(1)__________ the concept of zero, the base of the present (2)_______ system. With time,
zero became a stepping stone to (3)_______ simplified computations, (4)______ the ways for
development of algebra, algorithms and calculus, three pillars of modern mathematics, while
eventually laying the (5)______ for computers.

SubQuestion No : 90
Q.90 Select the most appropriate option to fill in blank 5.
Ans 1. origin

2. foundation

3. creation

4. activation
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Comprehension:
Read the given passage carefully and answer the questions that follow.
The use of plastic bags has been a contentious issue for many years. On one hand, they are
convenient for carrying groceries and other items. On the other hand, they are a major
contributor to pollution and can have devastating effects on the environment.
One of the main causes of plastic bag pollution is their widespread use. They are given out for
free at almost every store and are used for just a few minutes before being discarded. This
means that there are billions of plastic bags in circulation at any given time, many of which
end up as litter on streets, in parks, and in waterways.
Another cause of plastic bag pollution is their slow degradation. Plastic bags can take up to
1,000 years to decompose, which means that they will continue to pollute the environment for
centuries to come. This is especially problematic in oceans where they can harm marine life
and damage ecosystems.
The effects of plastic bag pollution are wide-ranging and can be devastating. They can harm
wildlife and marine life, damage ecosystems, and even contribute to the spread of disease.
Plastic bags that end up in oceans can be mistaken as food by marine animals, leading to
starvation or suffocation. They can also entangle animals, making it difficult for them to move
or escape predators. Plastic bags can also damage coral reefs, which are vital habitats for
many species of marine life.
In addition to harming wildlife, plastic bags can also affect human health. Plastic bags that
end up in waterways can contaminate drinking water and food sources, leading to the spread
of disease. They can also block drainage systems, causing flooding and other problems.
To address the problem of plastic bag pollution, many cities and countries have implemented
plastic bag bans or fees. These policies have been effective in reducing the use of plastic
bags and in turn reducing pollution. Consumers can also take action by choosing to bring
reusable bags when shopping, or by using paper bags instead of plastic bags.
In conclusion, the use of plastic bags has severe consequences on the environment and
human health. The cause of the problem is the widespread use and slow degradation of
plastic bags, while the effects are wide-ranging and can be devastating. To mitigate these
effects, individuals and governments can take actions such as implementing plastic bag bans,
choosing to use reusable bags or paper bags instead of plastic bags.

SubQuestion No : 91
Q.91 Select the most appropriate ANTONYM of the given word.

Contaminate
Ans 1. Purify

2. Collect

3. Extract

4. Pollute
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Comprehension:
Read the given passage carefully and answer the questions that follow.
The use of plastic bags has been a contentious issue for many years. On one hand, they are
convenient for carrying groceries and other items. On the other hand, they are a major
contributor to pollution and can have devastating effects on the environment.
One of the main causes of plastic bag pollution is their widespread use. They are given out for
free at almost every store and are used for just a few minutes before being discarded. This
means that there are billions of plastic bags in circulation at any given time, many of which
end up as litter on streets, in parks, and in waterways.
Another cause of plastic bag pollution is their slow degradation. Plastic bags can take up to
1,000 years to decompose, which means that they will continue to pollute the environment for
centuries to come. This is especially problematic in oceans where they can harm marine life
and damage ecosystems.
The effects of plastic bag pollution are wide-ranging and can be devastating. They can harm
wildlife and marine life, damage ecosystems, and even contribute to the spread of disease.
Plastic bags that end up in oceans can be mistaken as food by marine animals, leading to
starvation or suffocation. They can also entangle animals, making it difficult for them to move
or escape predators. Plastic bags can also damage coral reefs, which are vital habitats for
many species of marine life.
In addition to harming wildlife, plastic bags can also affect human health. Plastic bags that
end up in waterways can contaminate drinking water and food sources, leading to the spread
of disease. They can also block drainage systems, causing flooding and other problems.
To address the problem of plastic bag pollution, many cities and countries have implemented
plastic bag bans or fees. These policies have been effective in reducing the use of plastic
bags and in turn reducing pollution. Consumers can also take action by choosing to bring
reusable bags when shopping, or by using paper bags instead of plastic bags.
In conclusion, the use of plastic bags has severe consequences on the environment and
human health. The cause of the problem is the widespread use and slow degradation of
plastic bags, while the effects are wide-ranging and can be devastating. To mitigate these
effects, individuals and governments can take actions such as implementing plastic bag bans,
choosing to use reusable bags or paper bags instead of plastic bags.

SubQuestion No : 92
Q.92 Identify the structure of the passage.
Ans 1. Chronological

2. Compare and Contrast

3. Descriptive

4. Classification
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Comprehension:
Read the given passage carefully and answer the questions that follow.
The use of plastic bags has been a contentious issue for many years. On one hand, they are
convenient for carrying groceries and other items. On the other hand, they are a major
contributor to pollution and can have devastating effects on the environment.
One of the main causes of plastic bag pollution is their widespread use. They are given out for
free at almost every store and are used for just a few minutes before being discarded. This
means that there are billions of plastic bags in circulation at any given time, many of which
end up as litter on streets, in parks, and in waterways.
Another cause of plastic bag pollution is their slow degradation. Plastic bags can take up to
1,000 years to decompose, which means that they will continue to pollute the environment for
centuries to come. This is especially problematic in oceans where they can harm marine life
and damage ecosystems.
The effects of plastic bag pollution are wide-ranging and can be devastating. They can harm
wildlife and marine life, damage ecosystems, and even contribute to the spread of disease.
Plastic bags that end up in oceans can be mistaken as food by marine animals, leading to
starvation or suffocation. They can also entangle animals, making it difficult for them to move
or escape predators. Plastic bags can also damage coral reefs, which are vital habitats for
many species of marine life.
In addition to harming wildlife, plastic bags can also affect human health. Plastic bags that
end up in waterways can contaminate drinking water and food sources, leading to the spread
of disease. They can also block drainage systems, causing flooding and other problems.
To address the problem of plastic bag pollution, many cities and countries have implemented
plastic bag bans or fees. These policies have been effective in reducing the use of plastic
bags and in turn reducing pollution. Consumers can also take action by choosing to bring
reusable bags when shopping, or by using paper bags instead of plastic bags.
In conclusion, the use of plastic bags has severe consequences on the environment and
human health. The cause of the problem is the widespread use and slow degradation of
plastic bags, while the effects are wide-ranging and can be devastating. To mitigate these
effects, individuals and governments can take actions such as implementing plastic bag bans,
choosing to use reusable bags or paper bags instead of plastic bags.

SubQuestion No : 93
Q.93 Select the most appropriate title for the passage.
Ans 1. The Convenience of Plastic Bags: Ignoring the Negative Impact

2. The future of Marine Life

3. The Causes and Effects of Plastic Bag Pollution

4. The Consequences of a Damaged Ecosystem
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Comprehension:
Read the given passage carefully and answer the questions that follow.
The use of plastic bags has been a contentious issue for many years. On one hand, they are
convenient for carrying groceries and other items. On the other hand, they are a major
contributor to pollution and can have devastating effects on the environment.
One of the main causes of plastic bag pollution is their widespread use. They are given out for
free at almost every store and are used for just a few minutes before being discarded. This
means that there are billions of plastic bags in circulation at any given time, many of which
end up as litter on streets, in parks, and in waterways.
Another cause of plastic bag pollution is their slow degradation. Plastic bags can take up to
1,000 years to decompose, which means that they will continue to pollute the environment for
centuries to come. This is especially problematic in oceans where they can harm marine life
and damage ecosystems.
The effects of plastic bag pollution are wide-ranging and can be devastating. They can harm
wildlife and marine life, damage ecosystems, and even contribute to the spread of disease.
Plastic bags that end up in oceans can be mistaken as food by marine animals, leading to
starvation or suffocation. They can also entangle animals, making it difficult for them to move
or escape predators. Plastic bags can also damage coral reefs, which are vital habitats for
many species of marine life.
In addition to harming wildlife, plastic bags can also affect human health. Plastic bags that
end up in waterways can contaminate drinking water and food sources, leading to the spread
of disease. They can also block drainage systems, causing flooding and other problems.
To address the problem of plastic bag pollution, many cities and countries have implemented
plastic bag bans or fees. These policies have been effective in reducing the use of plastic
bags and in turn reducing pollution. Consumers can also take action by choosing to bring
reusable bags when shopping, or by using paper bags instead of plastic bags.
In conclusion, the use of plastic bags has severe consequences on the environment and
human health. The cause of the problem is the widespread use and slow degradation of
plastic bags, while the effects are wide-ranging and can be devastating. To mitigate these
effects, individuals and governments can take actions such as implementing plastic bag bans,
choosing to use reusable bags or paper bags instead of plastic bags.

SubQuestion No : 94
Q.94 What is the main cause of plastic bag pollution?
Ans 1.  Lots of proper disposal methods

2. Their easy decomposition

3. Their widespread use and slow degradation

4. Careful recycling
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Comprehension:
Read the given passage carefully and answer the questions that follow.
The use of plastic bags has been a contentious issue for many years. On one hand, they are
convenient for carrying groceries and other items. On the other hand, they are a major
contributor to pollution and can have devastating effects on the environment.
One of the main causes of plastic bag pollution is their widespread use. They are given out for
free at almost every store and are used for just a few minutes before being discarded. This
means that there are billions of plastic bags in circulation at any given time, many of which
end up as litter on streets, in parks, and in waterways.
Another cause of plastic bag pollution is their slow degradation. Plastic bags can take up to
1,000 years to decompose, which means that they will continue to pollute the environment for
centuries to come. This is especially problematic in oceans where they can harm marine life
and damage ecosystems.
The effects of plastic bag pollution are wide-ranging and can be devastating. They can harm
wildlife and marine life, damage ecosystems, and even contribute to the spread of disease.
Plastic bags that end up in oceans can be mistaken as food by marine animals, leading to
starvation or suffocation. They can also entangle animals, making it difficult for them to move
or escape predators. Plastic bags can also damage coral reefs, which are vital habitats for
many species of marine life.
In addition to harming wildlife, plastic bags can also affect human health. Plastic bags that
end up in waterways can contaminate drinking water and food sources, leading to the spread
of disease. They can also block drainage systems, causing flooding and other problems.
To address the problem of plastic bag pollution, many cities and countries have implemented
plastic bag bans or fees. These policies have been effective in reducing the use of plastic
bags and in turn reducing pollution. Consumers can also take action by choosing to bring
reusable bags when shopping, or by using paper bags instead of plastic bags.
In conclusion, the use of plastic bags has severe consequences on the environment and
human health. The cause of the problem is the widespread use and slow degradation of
plastic bags, while the effects are wide-ranging and can be devastating. To mitigate these
effects, individuals and governments can take actions such as implementing plastic bag bans,
choosing to use reusable bags or paper bags instead of plastic bags.

SubQuestion No : 95
Q.95 According to the passage Which of the following is NOT an effect of plastic bag

pollution on the environment?
Ans 1. Contamination of drinking water and food sources 

2. Air pollution

3. Damage to ecosystems

4. Harm to wildlife and marine life

Comprehension:
Read the given passage and answer the questions that follow.

“It is not a lip or eye we beauty call/ But the joint force and full result of all,” wrote Alexander
Pope, the English intellectual poet and contemporary of John Dryden. The very idea of beauty
is subjective because we never take it in totality.
Years ago, one saw a painting at an art museum in Warsaw, Poland. Some unknown Polish
painter made it during World War I. It was about an undraped woman, who had a chiselled
body but no face. There was a comment in the corner of that painting: Impose your idea of
beauty on it and think of a face for her.
Everyone will visualise according to his one idea of beauty. This is indeed intriguing. Beauty,
especially feminine beauty, is always stereotyped and reduced to concrete and unaltered
idioms. The core concept of beauty lies in being abstract. ‘Koi soorat de do ke tarasta hoon
main/ Meri taameer ki mitti abhi narm hai dekho’ – Give me a face, an appearance; my clay’s
still wet. The moment we try to concretise and quantify beauty, it loses its aura and its appeal.
There is a term in French – ‘Je ne sais quoi’, I know not what. Beauty ought to have this
quality that cannot be adequately described or expressed, yet that makes somebody or
something more attractive and interesting.
Beauty is always an open-ended idea. Neither can you bind it, nor can you define it. It is like
love, indefinable, yet so desirable. And like love, it can only be felt and experienced. You can
never appreciate it superficially. Then it becomes voyeuristic and too quotidian.

SubQuestion No : 96
Q.96 Select the most appropriate ANTONYM of the given word.

Intriguing
Ans 1. Interesting

2. Boring

3. Historical

4. Gripping
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Comprehension:
Read the given passage and answer the questions that follow.

“It is not a lip or eye we beauty call/ But the joint force and full result of all,” wrote Alexander
Pope, the English intellectual poet and contemporary of John Dryden. The very idea of beauty
is subjective because we never take it in totality.
Years ago, one saw a painting at an art museum in Warsaw, Poland. Some unknown Polish
painter made it during World War I. It was about an undraped woman, who had a chiselled
body but no face. There was a comment in the corner of that painting: Impose your idea of
beauty on it and think of a face for her.
Everyone will visualise according to his one idea of beauty. This is indeed intriguing. Beauty,
especially feminine beauty, is always stereotyped and reduced to concrete and unaltered
idioms. The core concept of beauty lies in being abstract. ‘Koi soorat de do ke tarasta hoon
main/ Meri taameer ki mitti abhi narm hai dekho’ – Give me a face, an appearance; my clay’s
still wet. The moment we try to concretise and quantify beauty, it loses its aura and its appeal.
There is a term in French – ‘Je ne sais quoi’, I know not what. Beauty ought to have this
quality that cannot be adequately described or expressed, yet that makes somebody or
something more attractive and interesting.
Beauty is always an open-ended idea. Neither can you bind it, nor can you define it. It is like
love, indefinable, yet so desirable. And like love, it can only be felt and experienced. You can
never appreciate it superficially. Then it becomes voyeuristic and too quotidian.

SubQuestion No : 97
Q.97 Which of the following statements is not true according to the passage?
Ans 1. Beauty is an open-ended idea.

2. One visualises according to his idea of beauty.

3. Beauty is like love.

4. Physical beauty is more impressive than inner beauty.

Comprehension:
Read the given passage and answer the questions that follow.

“It is not a lip or eye we beauty call/ But the joint force and full result of all,” wrote Alexander
Pope, the English intellectual poet and contemporary of John Dryden. The very idea of beauty
is subjective because we never take it in totality.
Years ago, one saw a painting at an art museum in Warsaw, Poland. Some unknown Polish
painter made it during World War I. It was about an undraped woman, who had a chiselled
body but no face. There was a comment in the corner of that painting: Impose your idea of
beauty on it and think of a face for her.
Everyone will visualise according to his one idea of beauty. This is indeed intriguing. Beauty,
especially feminine beauty, is always stereotyped and reduced to concrete and unaltered
idioms. The core concept of beauty lies in being abstract. ‘Koi soorat de do ke tarasta hoon
main/ Meri taameer ki mitti abhi narm hai dekho’ – Give me a face, an appearance; my clay’s
still wet. The moment we try to concretise and quantify beauty, it loses its aura and its appeal.
There is a term in French – ‘Je ne sais quoi’, I know not what. Beauty ought to have this
quality that cannot be adequately described or expressed, yet that makes somebody or
something more attractive and interesting.
Beauty is always an open-ended idea. Neither can you bind it, nor can you define it. It is like
love, indefinable, yet so desirable. And like love, it can only be felt and experienced. You can
never appreciate it superficially. Then it becomes voyeuristic and too quotidian.

SubQuestion No : 98
Q.98 What does the French term ‘Je ne sais quoi’ mean?
Ans 1. I know not where is it

2. I know not what

3. I know where is it

4. I know what
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Comprehension:
Read the given passage and answer the questions that follow.

“It is not a lip or eye we beauty call/ But the joint force and full result of all,” wrote Alexander
Pope, the English intellectual poet and contemporary of John Dryden. The very idea of beauty
is subjective because we never take it in totality.
Years ago, one saw a painting at an art museum in Warsaw, Poland. Some unknown Polish
painter made it during World War I. It was about an undraped woman, who had a chiselled
body but no face. There was a comment in the corner of that painting: Impose your idea of
beauty on it and think of a face for her.
Everyone will visualise according to his one idea of beauty. This is indeed intriguing. Beauty,
especially feminine beauty, is always stereotyped and reduced to concrete and unaltered
idioms. The core concept of beauty lies in being abstract. ‘Koi soorat de do ke tarasta hoon
main/ Meri taameer ki mitti abhi narm hai dekho’ – Give me a face, an appearance; my clay’s
still wet. The moment we try to concretise and quantify beauty, it loses its aura and its appeal.
There is a term in French – ‘Je ne sais quoi’, I know not what. Beauty ought to have this
quality that cannot be adequately described or expressed, yet that makes somebody or
something more attractive and interesting.
Beauty is always an open-ended idea. Neither can you bind it, nor can you define it. It is like
love, indefinable, yet so desirable. And like love, it can only be felt and experienced. You can
never appreciate it superficially. Then it becomes voyeuristic and too quotidian.

SubQuestion No : 99
Q.99 The central theme of the passage is ___________.
Ans 1. one should enjoy beauty in youth

2. physical health is more important than beauty

3. beauty is indefinable but can be felt and experienced

4. beautiful women can inspire others

Comprehension:
Read the given passage and answer the questions that follow.

“It is not a lip or eye we beauty call/ But the joint force and full result of all,” wrote Alexander
Pope, the English intellectual poet and contemporary of John Dryden. The very idea of beauty
is subjective because we never take it in totality.
Years ago, one saw a painting at an art museum in Warsaw, Poland. Some unknown Polish
painter made it during World War I. It was about an undraped woman, who had a chiselled
body but no face. There was a comment in the corner of that painting: Impose your idea of
beauty on it and think of a face for her.
Everyone will visualise according to his one idea of beauty. This is indeed intriguing. Beauty,
especially feminine beauty, is always stereotyped and reduced to concrete and unaltered
idioms. The core concept of beauty lies in being abstract. ‘Koi soorat de do ke tarasta hoon
main/ Meri taameer ki mitti abhi narm hai dekho’ – Give me a face, an appearance; my clay’s
still wet. The moment we try to concretise and quantify beauty, it loses its aura and its appeal.
There is a term in French – ‘Je ne sais quoi’, I know not what. Beauty ought to have this
quality that cannot be adequately described or expressed, yet that makes somebody or
something more attractive and interesting.
Beauty is always an open-ended idea. Neither can you bind it, nor can you define it. It is like
love, indefinable, yet so desirable. And like love, it can only be felt and experienced. You can
never appreciate it superficially. Then it becomes voyeuristic and too quotidian.

SubQuestion No : 100
Q.100 Select an appropriate title for the passage.
Ans 1. Beauty of women is inspiring

2. Alexander Pope and his beauty

3. Poets and beauty

4. Beauty is what strikes the soul
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